d°c/dp_dy [pb/GeV]

Ratio to CMS

T
o
o

\l

1010
9

=
o O
e}

.:/I:IIIH]YI I IIIH]YI [T

[EEY

0.5

7000 GeV pp

Jet

%I I I I I

m CMS
--3-- Herwig 7.2.0 default
—a— Pythia 8.183 default
----- ¢ Sherpa 1.4.2 default

Jet P, (NSD, 1.0 < |y| < 1.5)

TTTT]TTTI IIIIII]YI IIIIII]YI IIIIII]YI IIIIIHYI IIIIIHYI IIIIH]YI IIIIH]YI IIIIH]YI IIIIH]YI IIIIH]YI IIIIH]YI [l

EIEL..El

L bl IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIllIII IIIIllIII IIIIllIII IIIIllIII IIIIllIII IIIIllIII IIIIllIII IIIIllIII IIIIllIII IIIIllIIIJm

R SR SR 2 Sven

EE'E* i* )
X3 ¢

A
¥

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

=

0.5



	Contents
	Page 1


